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SOCIOLOGY HSSCHII
SECTION — A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

0] information Technology brings

A. Isolation B. Diseases C. Development D. Terrorism
(i) Failure to conform to the norms of a society is

A. Sodcial control  B. Deviance C. Values D. None of these
(i) What is Applied Research?

A Report writing B. Interview

C. Research guide D. Solution of the social problems

(iv) Taking bribe, Tax evasion are examples of

A White collar Crimes B. Organized Crimes

C. Professional Crimes D. None of these
V) The informal court of tribal people is

A. Punchayat B. Local council  C. Jirga D. None of these
(vi) Which age group is most involved in social deviant acts?

A Children B. Youth C. Women D. Old people
(vii) Facts finding is called

A Research B. Observation C. Experiment D. None of these
(viii) Research starts with

A Selection of problem B. Hypothesis

C. Measurement D. None of these
(ix) Upon what does the sustainability of human fife depend?

A Homes B. Shops C. Animals D. Favourable environmer
(x) How many types of environment are there?

A 2 B. 4 C. 6 D. 8
(xi) Which of the following is responsible for pollution?

A Animals B. Human beings

C. Natural disasters D. None of these
(xii) The first man who entered the Sub-continent was

A Negroid B. Austricks C. Dravidian D. Aryan
(xiii) Highly prestigious caste in India is

A Brahmans B. Khashtrya C. Vaishyas D. Shudras
(xiv}  The Ideology of Pakistan is based on

A Religion B. Politics C. Economy D None of these
(xv) Indus Valley Civilization was destroyed by

A. Aryans B. British C. Americans D. None of these
(xvi)  Major cause of over population is

A. llliteracy B. Medicines C. Un-employmentD. Nonre of these
(xvii)  According to the census of 1888, population growth rate of Pakistan was

A 2.6% B. 2.9% C. 4.8% D. None of these
(xviii} Pakistanisa/an country.

A. Ideological B. Developed C. BothAandB D. None of these
(xix)  Suicidal attacks are

A Crime B. Social disorganization

C. Social development L. None of these
(xx) Community has types.

A. 2 B. 3 C. 4 D. 5
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SOCIOLOGY HSSC-II

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B(a)’, one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

Q.2 a

(xii)
(xiii)
(xiv)
(xv)
(xvi)
(xvii)
(xviii)
(xix)
(xx)

(xxi)

Note:

SECTICN — B (Marks 50)
Answer any FIFTEEN parts. The answer to each part shouid not exceed 3 to 4 lines. (15 x 3 = 45)

Write down any three causes of Social deviance.

What is meant by Good Governance?

What are White collar crimes?

What is Non-physical or Social environment?

Define Social Research.

What is the role of Information Technelogy in social research?
Write down any three problems of Rural Community.

Write down any three impacts of British culture on the Pakistani cuiture.
Write briefly about any two agencies of socialization.

What is National Character?

Define Urban Community.

Write down any three impacts of liliteracy.

Define Culture.

Define Sub-Culture.

Write down any three impacts of Poverty.

Define ldeology.

Define Community.

What is Poverty?

Define Over Population.

Define Socialization.

Write any three remedies for the social disorganization in Pakistan.

Attempt any ONE part. (1x5=5)
Write down the impacts of Physical Environment on social (human) life.
Write down the causes of lliiteracy in Pakistan.

SECTION — C {Marks 30)
Attempt any THREE questions. All questions carry equal marks. (3x10=30)

Q.3  Whatis Social control? Describe the role of formal agencies of social control in crime control.

Q.4  Describe the types and functions of Social Research.

Q.5 Define Social Change. What are the resisting factors in the way to social change?

Q.6  What are the uniformities and variabilities among the sub-cultures of Pakistan? Discuss
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